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Chapter 5:     Problem #2:  

Find the minimum value of the area of the region under the curve  ݕ ൌ ݔ ൅ ଵ
௫
  

from ݔ ൌ ܽ  to  ݔ ൌ ܽ ൅ 1.5, for all a > 0. 

• I = ׬ ቀݔ ൅ ଵ
௫
ቁ ௔ାଵ.ହݔ݀

௔   =   ቂଵ
ଶ

ଶݔ ൅ ln ቃ|ݔ| ௔ାଵ.ହ
௔   

=   
ଵ
ଶ

ሺܽ ൅ ଷ
ଶ
ሻ2 + lnሺܽ ൅ ଷ

ଶ
ሻ െ ଵ

ଶ
ܽଶ െ ln ܽ  =   ଷ

ଶ
ܽ ൅ ଽ

଼
൅ lnሺ1 ൅ ଷ

ଶ௔
ሻ  

• Let  ݂ሺܽሻ ൌ ଷ
ଶ

ܽ ൅ ଽ
଼

൅ lnሺ1 ൅ ଷ
ଶ௔

ሻ 

 
• a>0, so domain: (0, ∞) 

 ݂ᇱሺܽሻ ൌ ଷ
ଶ

൅
ଶ௔ሺ షయ

మೌమሻ

ଶ௔ାଷ
ൌ  ଷ

ଶ
െ ଷ

௔ሺଶ௔ାଷሻ
ൌ  ଺௔మାଽ௔ି଺

ଶ௔ሺଶ௔ାଷሻ
 

 ݂ᇱሺܽሻ ൌ 0 ՞ 6ܽଶ ൅ 9ܽ െ 6 ൌ 0 

 3ሺ2ܽଶ ൅ 3ܽ െ 2ሻ ൌ 0 ՞ 3ሺ2ܽ െ 1ሻሺܽ ൅ 2ሻ ൌ 0 

  ܽ ൌ ଵ
ଶ
 or ܽ ൌ  െ ଷ

ଶ
 , but we choose ܽ ൌ ଵ

ଶ
  since ܽ ൐ 0 

 At  ܽ ൌ ଷ
ଶ
 , the function has a local minimum.  

Therefore, minimum value of the area of the region is: 

I = 
ଷ
ଶ

כ ଵ
ଶ

൅ ଽ
଼

൅ ln ቆ1 ൅ ଷ
ଶכభ

మ
ቇ ൌ  ଵହ

଼
൅ ln 4 

ܫ ൌ  
15
8 ൅ ln 4 ൎ 3.2612943611199  
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Chapter 7:     Problem #2: 

  Evaluate  ׬ ଵ
௫ళି௫

 The straightforward approach would be to start with partial . ݔ݀
fractions, but that would be brutal. Try a substitution. 

 

ܫ  • ൌ ׬ ଵ
௫ళି௫

ൌ ݔ݀ ׬ ଵ
௫ሺ௫లିଵሻ

 ݔ݀

• Let ݑ ൌ  ଷݔ ଵ/ଷݑ   ൌ  ݔ

ݑ݀    ൌ ݔଶ݀ݔ3 ՜   ଵ
ଷ

כ ଵ
௨మ/య ݑ݀ ൌ  ݔ݀

ܫ   ൌ ଵ
ଷ ׬ ଵ

௨భ/యכሺ௨మିଵሻכ௨మ/య ݑ݀ ൌ  ଵ
ଷ ׬ ଵ

௨כሺ௨మିଵሻ
ݑ݀ ൌ   ଵ

ଷ ሺ ஺׬
௨

൅ ஻௨ା஼
௨మିଵ

 ሻ݀ݑ 

• We have  
ଵ

௨כሺ௨మିଵሻ
ൌ   ஺

௨
൅ ஻௨ା஼

௨మିଵ
 

ଶݑሺܣ   െ 1ሻ ൅ ሺݑܤ ൅ ݑሻܥ ൌ 1 

ሺܣ ൅ ଶݑሻܤ ൅ ݑܥ െ ܣ ൌ 1 

  ൝
ܣ ൅ ܤ ൌ 0

ܥ ൌ 0
െܣ ൌ 1

՜  ൝
ܣ ൌ െ1
ܤ ൌ 1
ܥ ൌ 0

 

ܫ   ൌ ଵ
ଷ ሺ ିଵ׬

௨
൅ ௨

௨మିଵ
 ሻ݀ݑ ൌ െ ଵ

ଷ
ln |ଷݔ| ൅ ଵ

଺
ln|ݔ଺ െ 1| ൅ ܥ ൌ  ଵ

ଷ
ln | √௫లିଵ

௫య | ൅  ܥ

ܫ ൌ
1
3 ln |

଺ݔ√ െ 1
ଷݔ | ൅ ܥ  
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Chapter 7:     Problem #13:  

The circle with radius 1 shown  in the figure touches the curve ݕ ൌ  twice. Find |ݔ2|
the area of the region that lies between the two curves.  

• We  have  ଶݔ ൅ ሺݕ െ ܾሻଶ ൌ 1 , ሺܾ ൐ 0ሻ  and  
ݕ ൌ  |ݔ2|

• Let’s  consider  the  area  on  the  right  side 
between ݔଶ ൅ ሺݕ െ ܾሻଶ ൌ 1  and 
ݕ   ൌ |ݔ2| ൌ ݔ  since  ݔ2 ൐ 0. 

• Intersection:   ݔଶ ൅  ሺ2ݔ െ ܾሻଶ ൌ 1  
(by substitution) 

ଶݔ5  െ ݔ4ܾ ൅ ܾଶ െ 1 ൌ 0 
• We have: ∆ ൌ ଶܤ െ  ܥܣ4

     ൌ ሺെ4ܾሻଶ െ 4 כ 5 כ ሺܾଶ െ 1ሻ ൌ െ4ܾଶ ൅ 20 
• If   ݕ ൌ ଶݔ   touches   ݔ2 ൅ ሺݕ െ ܾሻଶ ൌ 1  at 1 point, ∆ൌ 0 

   െ4ܾଶ ൅ 20 ൌ 0 ՜ ܾ ൌ െ√5  or  ܾ ൌ √5 

• Choose ܾ ൌ √5  since ܾ ൐ 0 ՜ ଶݔ ൅ ሺݕ െ √5ሻଶ ൌ 1    
• Intercept: ݔ ൌ ଶ

√ହ
 , ݕ ൌ ସ

√ହ
  ሺܫ  ଶ

√ହ
, ସ

√ହ
ሻ 

• Total Area ൌ 2 כ ሺ݈݁݃݊ܽ݅ݎݐ ݀݁ݎ ݂݋ ܽ݁ݎܣ ൅  ሻܽ݁ݎܽ ݓ݋݈݈݁ݕ 

• Total Area ൌ 2 כ ቀ ଵ
ଶ

൫√5 െ 1൯ כ ൫√ହିଵ൯
ଶ

൅ ቁܪ ൌ 2 ൬൫√ହିଵ൯
మ

ସ
൅   ൰ܪ

ܪ • ൌ ׬  ቆଵ
ଶ

ݕ െ ට1 െ ሺݕ െ √5ሻଶቇ ସ/√ହݕ݀
√ହିଵ  

• Let ݕ െ √5 ൌ sin ߠ ՜ ݕ݀ ൌ cos ߠ כ  ߠ݀

ܪ • ൌ ׬ ሺଵ
ଶ

ሺsin ߠ ൅ √5ሻ െ cos ሻୱ୧୬షభሺିଵ/√ହሻߠ
ିగ/ଶ cos ߠ כ  ߠ݀

׬  = ሺଵ
ସ

sinሺ2θሻ ൅ √ହ
ଶ

cos ߠ െ ଵ
ଶ

ୱ୧୬షభሺିଵ/√ହሻ
ିగ/ଶ cosሺ2ߠሻ െ ଵ

ଶ
ሻ݀ߠ 

=  ሾ െ ଵ
଼

cosሺ2ߠሻ ൅ √ହ
ଶ

sin ߠ െ ଵ
ସ

sinሺ2ߠሻ െ ଵ
ଶ

ሿ ߠ ୱ୧୬షభሺିଵ/√ହሻ
ିగ/ଶ  

=  ሾെ ଵ
଼

൅ ଵ
ସ

 ሺsin ሻଶߠ ൅ √ହ
ଶ

sin ߠ െ ଵ
ଶ

sin ߠ cos ߠ െ ଵ
ଶ

ሿ ߠ ୱ୧୬షభሺିଵ/√ହሻ
ିగ/ଶ  
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=  െ ଵ
଼

൅ ଵ
ଶ଴

െ ଵ
ଶ

൅ ଵ
ହ

െ ଵ
ଶ

sinିଵሺെ1/√5ሻ ൅ ଵ
଼

െ ଵ
ସ

൅ √ହ
ଶ

െ గ
ସ
 

=    √ହିଵ
ଶ

െ గ
ସ

െ ଵ
ଶ

sinିଵሺെ1/√5ሻ 

• Total Area ൌ 2 ൬൫√ହିଵ൯
మ

ସ
൅ ൰ܪ ൌ 2 ൤ ൫√ହିଵ൯

మ

ସ
൅ √ହିଵ

ଶ
െ గ

ସ
െ ଵ

ଶ
sinିଵ ቀെ ଵ

√ହ
ቁ ൨ 

=  sinିଵሺ ଵ
√ହ

 ሻ െ గ
ଶ

൅ 2 ൎ 0.8928512822 

ܽ݁ݎܣ ݈ܽݐ݋ܶ ൌ  sinିଵሺ 
1

√5
 ሻ െ

ߨ
2 ൅ 2 ൎ 0.8928512822  
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Chapter 7:     Problem #11: 

    If 0< a < b, find   lim௧՜଴ሼ ׬ ሾܾݔ ൅ ܽሺ1 െ ଵݔሻሿ௧݀ݔ
଴  ሽଵ/௧  

• Let ܫ ൌ ׬ ሾܾݔ ൅ ܽሺ1 െ ଵݔሻሿ௧݀ݔ
଴ ൌ  ଵ

௕ି௔ ׬ ሺܾ െ ܽሻሾܾݔ ൅ ܽ െ ଵݔሿ௧݀ݔܽ
଴  

=   ଵ
௕ି௔ ׬ ሺܾ െ ܽሻሾሺܾ െ ܽሻݔ ൅ ܽሿ௧݀ݔଵ

଴  

ܫ  ൌ ቂሾሺ௕ି௔ሻ௫ା௔ሿ೟శభ

ሺ௕ି௔ሻሺ௧ାଵሻ
ቃ ଵ

଴ ൌ ሺ௕ି௔ା௔ሻ೟శభି௔೟శభ

ሺ௕ି௔ሻሺ௧ାଵሻ
ൌ  ௕೟శభି௔೟శభ

ሺ௕ି௔ሻሺ௧ାଵሻ
 

• lim௧՜଴ሼ ׬ ሾܾݔ ൅ ܽሺ1 െ ଵݔሻሿ௧݀ݔ
଴  ሽଵ/௧ ൌ lim௧՜଴ ቀ ௕೟శభି௔೟శభ

ሺ௕ି௔ሻሺ௧ାଵሻ
ቁ

ଵ/௧
 

( = 1ஶ:  (ݎ݁ݓ݋݌ ݁ݐܽ݊݅݉ݎ݁ݐ݁݀݊݅ ݊ܽ

=   lim௧՜଴ ቀ ௕೟శభି௔೟శభ

ሺ௕ି௔ሻሺ௧ାଵሻ
ቁ

ଵ/௧
 ൌ  lim௧՜଴ ݁

ౢ౤ሺ್೟శభషೌ೟శభ
ሺ್షೌሻሺ೟శభሻ ሻ

೟  (*) 

  By  L’H, we  take  derivative  of  the  numerator  and  the  denominator  of  the 
power of e with respect to t. Derivative of the denominator  is 1, so we just care about 
the numerator. 

We have: 

ቀln ቀ ௕೟శభି௔೟శభ

ሺ௕ି௔ሻሺ௧ାଵሻ
ቁቁ

ᇱ
ൌ  ሺ௕ି௔ሻሺ௧ାଵሻ

௕೟శభି௔೟శభ כ  ሾ௕೟శభכ୪୬ሺ௕ሻି௔೟శభכ୪୬ሺ௔ሻሿሺ௕ି௔ሻሺ௧ାଵሻିൣ௕೟శభି௔೟శభ൧ሺ௕ି௔ሻ
ሺ௕ି௔ሻమሺ௧ାଵሻమ   

=   
ሾ௕೟శభכ୪୬ሺ௕ሻି௔೟శభכ୪୬ሺ௔ሻሿሺ௧ାଵሻିൣ௕೟శభି௔೟శభ൧

ሾ௕೟శభି௔೟శభሿሺ௧ାଵሻ
ൌ  ሾ௕೟శభכ୪୬ሺ௕ሻି௔೟శభכ୪୬ሺ௔ሻሿ

ሾ௕೟శభି௔೟శభሿ
െ ଵ

௧ାଵ
 

From (*), we have lim௧՜଴ ݁
ౢ౤ቆ್೟శభషೌ೟శభ

ሺ್షೌሻሺ೟శభሻ ቇ

೟ ቀܾܮݕԢܪധധധധധധധധቁ ݁
୪୧୫೟՜బሼሾ್೟శభౢכ౤ሺ್ሻషೌ೟శభౢכ౤ሺೌሻሿ

ൣ್೟శభషೌ೟శభ൧
ି భ

೟శభሽ
 

= ݁
୪୧୫೟՜బ൜ሾ್೟శభౢכ౤ሺ್ሻషೌ೟శభౢכ౤ሺೌሻሿ

ൣ್೟శభషೌ೟శభ൧
ൠା୪୧୫೟՜బ

షభ
೟శభ ൌ ݁

୪୧୫೟՜బሼሾ್೟శభౢכ౤ሺ್ሻషೌ೟శభౢכ౤ሺೌሻሿ
ൣ್೟శభషೌ೟శభ൧

ሽ
כ ݁୪୧୫೟՜బ

షభ
೟శభ 

=  ݁
౤ ሺೌሻౢכ౤ሺ್ሻషೌౢכ್

್షೌ כ ݁ିଵ ൌ  ݁
ౢ౤ቀ್್ቁషౢ౤ ሺೌೌሻ

್షೌ כ ݁ିଵ ൌ  ݁
భ

್షೌכ୪୬ ሺ್್
ೌೌሻ כ ݁ିଵ 

=  ሾ௕್

௔ೌሿଵ/ሺ௕ି௔ሻ כ ݁ିଵ 

Therefore,  lim௧՜଴ሼ ׬ ሾܾݔ ൅ ܽሺ1 െ ଵݔሻሿ௧݀ݔ
଴  ሽଵ/௧ ൌ ݁ିଵ כ ቂ௕್

௔ೌቃ
ଵ/ሺ௕ି௔ሻ

 


